Honors Geometry Unit 10 Review Sheet

Multiple Choice: Circle your final answer.

1. Assuming ABistangent to

the circle. Determine the value "‘n} :
of AB. .
a. 103 A4
21.8 2
? 26.5 H40" =2
d. 59.9 2 4100= 579
x*r=476
X< 218
2, Find the value of x. P S5y
d. 750 360 ,"f\\ "v,.l
85 s fox Ne
c 150° _0 Y / ~
d. 170° s

3. Find the value of x. /

a. 4\/5 :"»~‘,_,
b. 83 N4

p 9
d. 16

4. Given AB =7, find CD.
7

14

60

45
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5. Find the value of x.

a. 75° =360 -
b. 85° A

@ 95°

100°

6. Find the measure of arc WV.

a. 46° /

® s i

c. 96° \o

d. 24°
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7. Find the measure of arc FV.

70° a2 ;;ug o
66° (D m FGH = jo?" o as2e
c. 132° i ‘ “
. 21¢ ’?
d 28 @ Ifl Iﬂ- \]:ng ;!
~76° 68
~ o " @ 13 2
" FG= 6(7 o _ gyt
@ m e -ev2 <136 1757
8. If DE =40 and FE = 32, find the radius.
a. 10 2, yo
b. 52 &, 2. it BT ¢
d. 9.5 ¢ X

£ -
X 1 1600 = xTF gy x+ o=y

j600 = gYX

+icad

61X= 576 (X~ 17

9. Find the measure of arc BC.
a. 70°
b. 85°
100° ,:’

d. 170° \

;n BL 179
—/_—-:

= 85

mga‘i’?(): |70

10. Find the value of x.
5 A

oo o)
= O O
o

11. Find the value of x.

b

= W

0
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Short Answer: Show all your work.

12. Solve for x.

17. The diameter of circle O has a length of 16 ft.

5X-723X+13 What is the approximate area of the sector
bounded by Z POR and arc PQR.
axX =20
f‘d_Déi'Uff 8
[x= 10|
v
©=55+70=[25
13. Solve for x. WS 2
4= == 17 (8
Q) o R G 260
X F+8" = (x+ 5)
. = [b9. ¥ &1
x* 464 = X+ jox+25 A 7
3n. 6Y= |JoX+RS
8in. X =39 18. A 40-inch pendulum swings through an angle of
X= 18°. Find the length of the arc in inches through
X :{3. 7 mcLLS x which the end of the pendulum swings.
14. Find the value of z. “w c ]9
N\ A5 1 a0
Q *¢

’g::z-HOc:SOD

e =\%0 19. Find the value of x.
. -[100 12¢+8
2 =[0e] o (1Rx+8)— (4 x+4)
~ =
x+3= 192 |2x+8—yxa¥ = joO
+4=10C0C
31x+3= 96 gx L/? /
50° X=LE- i3
31x=193 : g
| Xz3 i 20. Write the equation for the circle below.
16. Solve for x. SENEN P plivs: &
i T ¢ Center: (-3 3)
__F/ T2r 4 14 p 4
// /i\\ ; : v (Xf’s)a-f- ( )Q:
/58 < 3 r > -3
/e (b+1y0- 55 ST ) T4
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Kuta Software - Infinite Geometry Name

Segment Lengths in Circles Date Period

Solve for x. Assume that lines which appear tangent are tangent.

2)

B Is"> §(x+)
3(5+5):
ARS= X 4§ L/MH()
|4y = cfX RV = |6+ 49X
5\ /¢ g=9X

@

4)
‘ 4
Y(U+HX-3) = 5[ X-6+5)
( Ylyx)= =
Y( Xx+1)=5(x-1) .
Yx+4 = 5x-5 Hix =3
X=5
5) 6)
b g (yx+2)= 9(49x) o UX = 5ug
8 3aX+[6=3L X 4
4X =40
4x IQ: 4X 8
(x=‘i\

7

: 3= x(xts) 8) (W
(7 36= XH5X 7 |

x*+SX 3620 §X(6X+8X) = 7(7+9)

- 9)=0
(X )X 7) 5X 19X = 7:16

X=X lax>=
[x=4) . X
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